8
(SMA) (SES)
2 (DES) 2
(LES) ' ' 3
(TES) - (HWS) (REG)
() Newbold
Granger 2
—< 1
(MAPE) (MSE)
10
2
2537
2542 65

2528-2541 14



U]}
81.4%

i
64.0%

01

97.7%  98.6%

151

11.2%
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31
66
(SMA) V #3957 ;p>L
(SES)
Y31 p>l
' 1 2 (DES)
Y 6o4=4,181.339+50.074p p>1
2 (LES)
Y 6ip=4,679.673+108.286p p>1
3 (TES)
{ 6540=4,310.449+80.612p+1.723p2:p>1
(HWS)

¥ 651p=3,891.95+9.694p+si p>1
1 275687, 892.562, 1,268.646, 1,232.229, -1,810.584, 679.354, 425.554,
701.704, 887.220,-1,374.480,-1,307.763  -1,870.130
(REG) Y =1,136.329
-98.617t+1.739t2+3,193.987X1+3,660.384X2+4197.969X3+4,078.744X4+625.207X5
+3,358.119X0+3,039.461 X+3,323.924X6+3,514.910X%+ 1,261.018X 1+549.848X 11 ,t>66

ARI(L2)XSIMA(LL)D |
Vt=1.3583Yt 1+.2834 Vt.22.6417Yt.3.2834Y, 1+ 6417Yt B+e- 491det D:1>66
10
(HWS)
(REG)
(SMA) (SES)
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32

66
(SMA) Y 4577 ;p>1
(SES)
Y 65+p~"® 'P—1
, ! 2 (DES)
¥ B54p=629.451+6.602p :p>1
2 (LES)
Y B+8:662.319+11.272p :p>1
o 3 (TES)
Y B4p=640.565+8.684p+.073p2;p>1
(HWS)

Y B4p=634.07+2.122p+5] p>1
1 98958, 117.833, 165.791, 60.583, -144.917, 153.020, 79.758, 82.275,
67.225,-197.059, -213.342  -270.125

(REG)
V,=3.51 Ot+41 9.084X 1+447.074X2+479,397X3+400.720X4+140.377X5+348.060X6
+346.150X7+351.240X8+338.930X g+ 76.420X 0463 3L 0, 1 :£>66

ARI(LLXSI(L)2
Yt =.4384Ym+5616 Yt 2+Yt_12.4384Y,.13. 5616Yt, Uret t>66

10
2 (DES) 2
; (LES) . 3 (TES)
()
(REG)
(SMA) (SES)

(B-)
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33 66

(SMA) Y 6otp = 4,986
P>1
(SES)
Y Btp=4,574 p>1
' ' 2 (DES)
Y 64p=4,220.197-85.514p ;p>1
2 (LES)
Y& =4,321.149-69.734p ;p>1
' ' 3 (TES)

Y 65+p=3584.752-206.523p-5.623p2;p>1
()
Y Btp=4818.42-78.792p+S] ;p>1
, 45921, 305.650, 1,342.463, 778.984, -2,278.808, 1,717.171, 55.867,
796.217, 886.434, 161.584, -1,280.466  -2,522.016
(REG) Y =5,837.752
- 86.860t + 3,515.401X1 + 4,679.094X2 + 5,801.287X3 + 5,197.980X4 + 2,282.007X5
+5,974.841Xg + 4,328.701X7+ 5,047.161X8+ 5,168.821X9+ 4,445.680X Jo+ 3.007.940X,
't>66

IMA(LL)XSARI(L,1)D it =YM+.3066YM2
-3066Y, 136034, 2 6934Yt B+EL. 7472, 1566
10
3 (TES)
2 (DES)
2 (LES) : (HWS)

(REG) : (B-)



(SMA)
(SES)

34

(SMA)
P>1
(SES)
Y Wp=1,7595 ;p>1
2
Y 14p=16,388.367+282.045p ;p>1
2
Y 144=17 595+426.769p p>1
3
Y 1440 =17,374.298+691.225p+48.082p2 p>1
(REG)
-129.020t+ 39.053t2;t>15
10
(REG)
3 (TES) 2
(LES)
35
(SMA)
P>1
(SES)

Y 144p=11,892 ;p>1

155

Yu =17268

(DES)

(LES)

(TES)

¥ =12,274.582

(SMA)

Y% =11610

15

15
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2 (DES)
V 1p=10,954.404+129.181P p>1

2 (LES)
Y 14=11,925.202+275.936p ;p>1
' ! 3 (TES)
Y 1440=11,906.276+519.098p+46.248p2;p>1
(REG) Y =9,106.077
-164.278t+ 27.12212;t>15
10
(REG)
3 (TES) 2 (LES)
(SMA)
4,
4.1
66
1(C1) y =78738y H§
+.21262y(REG).t>66
2 (C2) y1=.15888 y 1A
+.08038yt (E3+-32909y 18k 15792y 1(E ), 27373y 1gEL; 66
3(C3) yt=.01073yt QA

+,00628 y 1(5&L+.02029 yt ( &k+.01260 y 1(166k+.01343 y 1(15k+61806 y 1(HV )+-3186 yt (R
' £>66

4 (C4) y1=.79109y HE
+.20891 yt(REY; t>66

5(CH) y1=.15891 y 10N
+.08037y 1(38k+.32908y 1([(E9+.15786 yt (@Hk+. 27378y L (8L ; L>66
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6 (C6) y1=.01039y 19
+ 00609y YSES)+.0196 Ly{DESH 01222y {LESH+01286y1(TESH+ 39830y {HAG+ 34045y FEG

' £>66

10
134 6
2 5 1
4
42
66
Lo1(C) j/t=68031 yt Y8

+ 31960yt (R t>66

2(C2) y=.05785 §1t ()
+ 06180 't B+ 11148yt [+ 10373y L{E3+ 66505 y Les) ; £>66

3(C3) y1=.02635y1( W

+.02714yt (E9+.04627yt (CE }+-03144yt (EB3+.06453yt (E )+.547 14yt (HN§+25713yt (D
566

4 (C4) yt=.68125ytHV)
+.31875ytREG;t>66

5 (CH) yt=06571 yt QW
+.06835 yt (E9+.11777yt (5+.11514 yt (E )+.63303 yt (res) ; t>66

6 (C6) yt=.02252 yt (M

02317yt ... 03934yt ((B9+.02693yt (E9+.05277yt (TES)+42520y 11w . 21007yt ...
166

10
134 6
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43

1(C1) yt="38703yt(HV
+.61297 y 1[5 ; t>66

2 (C2) y =.16872y(9W
+.17888yt {E,+.17959yt ((E5+.19892§t (E+-27388yt (B t- 66

3(C3) y =.14679y1QW

+.03513yt (E5+.02347y 1[E5+.03020 y1(E )+.01164 y 1(E) +.12602 y 1(HG+-62676 y 1D
566

4 (C4) yt=.38712ytHA9
+.61288y1(REGL; t>66

5(C5) y1=.36258 y V)
+.15222 y I(E +.14657 y 1(E +.16100 y 1{E5+.17763 y 10E) ; t>66

6 (C6) y =.06283y18W

+ 01305 y 1{S3+00860 vt (E+-01108y 1 (E3+-"426 y 1(E)+10014y Lwe)+ 7904yt R :
t>66

10
1,34 6
2 5
4.4 15
1 (C1) y =01494y108
+.98506 y{REG ; t>15
2 (C2) y1=.00092 913

+ 0122451 (E +00053yt (E +98631 y 15 : t>15

66
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3(C3) y =.00078y 9
+ 01030y KSES)+ 00045H{DES+ 830 14§HLES)+ 0023 T§H(TES)+ 15597y HREG)t>15

4 (C4) ¥t =.02970 V|§g1
+.97030 yi(REG ; t>15

5 (CY) y =.00370y10A
+,02787 y{SES+.00284 yt(DES+.96559 YL ; t>15

6 (Co) y =.00274y QW
+.02126 yt (F5+.00208yt (E}+.80255y 1(E5+.00682y 1aE3+. 16455y 1[G ; t>15

10
1
=%
4
45

1 (C1) y =01931y pay
+.98069yt(REG)t>15

2 (C2) y =05100yt QW
+.17913yt (E5+.03616yt (E+.73371 y1(E ; t"15

3(C3) y =.00116ytQW
+.01631 y1( E)+-00057 yt (CE )+-00586 yt (L +-01885yt (E3+-05726 yt (R ; ™15

4 (C4) y =.04283y(TE)
+.95717yREG);t>15

5(CH) yt=.03381 1A
+.10309yt (E),-02634yt (E3+.83676yt (5 ; 1" 15

6 (C6) y1=.00432 yt QWA

+.02332y1ES+ 00286y 1DE+ 12726y H(LESH+ 03070y ES)+ 81155y HREG)t>15

10

15
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4
5
51
(MAPE) (MSE)
C4
() (REG)
2
Lf 1
(MAPE)
()
(MSE)
C4
: ()
(REG) 2
(MAPE) (MSE)
Cl
) (REG) 1
5.2

(MAPE)



C3
SES, DES, LES, TES  REG)
(MSE)
(MAPE)
C6
2
6
61

(MAPE)

10

161

(SMA,

(REG)

(TEACH2) !

(MSE)

(SMA, SES, DES, LES, TES  REG)

(MSE)
2542 2543

4,786, 4,554, 4,868, 5091, 2,869, 2,811, 2,290, 4,695, 5321 5,751

(MAPE)
2542
379,750, 1L 821

10
674, 680, 669, 408, 395, 339, 726, 751

(MAPE)

10
2543 789, 718, 723, 710, 448, 433,

(MSE)
| 2542 ™R3 T2
79

(MéE)
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10 2542 2543 9,740,
8,057, 8,754, 8,833, 8,078, 6,605, 4,254, 7,372, 8,155 9,091

6.2

(MAPE) 10 2542
2551 18,189, 18,714, 19,251, 19,801,20,362, 20,937, 21,523, 22,122, 22,733
23,356

(MSE)
10 2542 %51 19,128 20,200, 21369,
22,607,23,924, 25,318,26,790, 28,341,20,960 31,676

(MAPE) (MSE)
10 2542 2551 12,637, 13,230, 13,887, 145581,
15,320, 16,104,16,034,17,809, 18730 19,69

2531 2542

2542 101,865 49,178



1
PDQI  d=0, L2 D=0, L2

163

2528-2541 2535

ARIMA(p,1,9)XSARIMA(P,1,0)2

(d=1) (=1)
ARIMA(0,1,1)XSARIMA(L,L,0)2

2

2

ARIMA(p,d,q)XSARIMA

ARIMA(0,1,1)XSARIMA(0,L,1)2



C4

Newbold

MAPE

Granger

(C4)

Cl

164
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2
2 6
Newbold
Granger 2 2 1 "1
.0009 1.5214% 1
2 2
2 2
P L2 1 (31 2.9
(SSE)
3 9
1
4
10109 20891

Newbold  Granger
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software
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